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WENRE SHEEHMEHERRBAE

% i Mg - RART % Hfu H B L i ' # H =

EENEE b5, 735, 163
MR ERRRE 55, 735, 163
EEAIEE 55, 735, 163
FELER 599, 117
HELER 599, 117
1 SAE#R 1.00 271,235 271,235

=
2 HEMEHR QEEZY) 1.00 327, 882 327, 882

=X
BEIREAE 9,868,174
FER 4,436, 295
3 FUREHEEN MR 1.00 168, 840 168, 840

=
4 FUERETRE 10. 00 73,943 739, 430

=
5 TR E 10.00 73,943 139, 430

H1
6 FRAERARESEN 1.00 497, 000 497, 000

=
1 R E LR ARAT 24.00 61,904 1,485, 696

]
8 MRAEMESEMR 1.00 805, 899 805, 899

=
Hufiz A€ OKREAL) 1,444,079
9 BETAbL 1.00 255,169 255, 169

=




WENRE SHEEHMEHERRBAE

2 g B - BT B H = i ® ® B E

10 &R 20.00 12,628 252, 560
km

11 wEE s 1.00 11,978 11,978
=]

12 iz Bl EREE/ERK 1.00 924, 372 924, 372
=

BEEYRE 3,987, 800

13 8]k - AR GA. 11A8) 2. 00 612,976 1,225,952
]

14 Kk - RiE - HHRIWMEGA. 18) 2. 00 757, 206 1,514, 412
]

15 SELER 1.00 654, 930 654, 930
=X

16 K& - EEREEZER 1.00 592, 506 592, 506
=®

BEEMRE 5,231,637

tEEMRAE 1,151, 808

17 FEEMRAEFR BRI 16.00 71,988 1,151, 808
e

ANERE 759, 360

18 AL BN AT BHEER 12.00 63, 280 759, 360
s

hITAZRAE 820, 206

19 A7 b HZEBRRAE 1.00 820, 206 820, 206
=

RAF A HBRKRAE 1,181, 001

20 XA ) HBRRRAE 1.00 1,181, 001 1,181, 001
=R




BERNRE

SHEEHMEHERRBAE

% {71 A& - FAKTi BAfi = i %8 B E
RAEHR DR - B 1,319, 262
21 AERERDORN - Z8 (BEEWHR 1.00 1,319, 262 1,319, 262
x) .
=
FTRAEYRAE 10,011, 466
FREYMRAE 3, 205, 572
22 TEBAKE-EE - &9 4.00 484, 388 1,937, 552
8]
23 W7 bV HZHEEBRRRFAE 2.00 249, 206 498, 412
[=]
24 hJ FHZENERERE 2.00 384, 804 769, 608
[a]
TERRAE@MEL—FHERUEGE 3,703, 622
BiRs
25 £iKEHE R {EER L~ JL1000 459 965 4, 429
km2
26 EHRIGHE HhETEER L~ JL1000 4 59 802 3,681
km2
27 #1E R {EEHR L~ JL1000 10. 80 160, 117 1,729, 263
R il
28 Eti8I R 1EER L~ L1000 2 07 257,191 532, 385
R
29 & HhE1EER L ~JL1000 5.00 149, 435 747,175
H
30 FEADEHRE HhETEER L~ JL1000 4.00 59, 666 238, 664
&30
N AT —ARUVAUDFHILT—421E [HEFHRL /L1000 4.59 20, 733 95, 164
5
km2
32 7590 FF—5 ki SEEITEH L~ L1000 4.59 52, 366 240, 359
km2
3B HTUYF@ER T2 R HR1EER L <)L 1000 4.59 5,319 24, 414
km?2




WENRE SHEEHMEHERRBAE

% 7 R - BARTiE BAfi H = B & B =
M EERT—FERK R 1EER L~ L1000 4.59 5,412 24, 841
km2
3B BET—F2 774 ILER R 1EER L~ L1000 4.59 2,202 10, 107
km?2

36 EXRERERE 1.00 52, 000 52, 000
=

3 IREXEE 1.00 1,140 1,140
=%

BEAE 1,187,312

38 EfEHREE 4.00 296, 828 1,187, 312
B

MEEROMBEN - ER 1,914, 960

39 AEKREDEN - 2R (TEEVRAE 1.00 1,914, 960 1,914, 960
) =

REBEREERMYELD 1,037, 684

REERERMYELD 1,018,484

40 STOEELHERERMY F LD 1.00 1,018, 484 1,018, 484
=

AFRARAKEROERK 19, 200

4 NFRARRRDER 1.00 19, 200 19, 200
=

& - /e 179, 850

e - S 179, 850

42 ERiE 1.00 78, 150 78,150
B

43 hRERE 1.00 50, 850 50, 850
B




WENRE SHEEHMEHERRBAE

% i Mg - RART % B fr % 8 L i ' # H =

44 RIS 1.00 50, 850 50, 850
(]

E#ERE 28, 807, 235

TEXREK 570, 927

45 Z2E/RMR 1.00 570, 927 570,927
=

R 200, 000

46 XBHRRRE (FMTEE HEH 1.00 100, 000 100, 000
ERERFAE) .
=

471 XBERRRE (FHOEEIFHERIY 1.00 100, 000 100, 000
E-2) .
=

SHEHRE 28,036, 308

48 HITHEBRE 1.00 28,036, 308 28, 036, 308
=




SRR
s

SHEEHMEHERRBAE

A 5 Big - BIKHE B = i & & i
HEAEE 48,579, 156
ARE 20,542,848 x 61.3% — 1,921 12, 590, 844
REFED 48,579,156 + 12,590, 844 61,170, 000
EERE 6,985,240 + 170, 767 7,156, 007
BEEAGE 6, 985, 240
BEERE 170, 767
T Ot R 6,985,240 x 53.85% ( 35% = (1 — 35%) ) 3,761, 551
KR 7,156,007 + 3,761, 551 10,917,558
—REERE 10,917,558 x 53.85% ( 35% + (1 — 35%) ) — 6,662 5,872, 442
HEREE 10,917,558 + 5,872, 442 16, 790, 000
AEEBEE 61,170,000 + 16, 790, 000 77,960, 000
HEREELE 77,960,000 x 10.00% 7,796, 000
AEEHRE 77,960,000 + 7,796, 000 85, 756, 000




Rif&R-T/\vr—o

SHTEEHMBHEERAE

51
2% REER 1K%Y
% b R - BkTiE B = B {f L] B B s &
B2 EFHEm
A 1.00 54, 600. 00 54, 600
Bl S BEm
A 3.00 47,100. 00 141, 300
BIEHEhE
A 1.50 36, 900. 00 55, 350
RIZBNF
A 0.50 34, 600. 00 17, 300
MM 2ERDY%
% 1.00 268, 550. 00 2, 685
=1 B E%5eH - 1.00=K 271, 235.00 271,235
EFS5:2
B BEMIERR QEEHY) IEED
4 {1 R - KT ==X = B i %8 = w &
REMHEE
A 8.00 25, 900. 00 207, 200
cSwo 2ti&
H 4.00 29, 359. 00 117, 436(4.70H / 8H
MM 2K0Y%
% 1.00 324, 636. 00 3, 246
= B E%8EH : 1.00K 327, 882.00 327, 882
%5 :3
B REEHEE AR 1KLY
% b R - kT B = B {f L] B =B s &
B EHEm
A 2.00 47,100. 00 94, 200
B S B EHwH
A 2.00 36, 900. 00 73, 800
MMA = 2OV
% 0.50 168, 000. 00 840
=) B E%5eH - 1.00X 168, 840. 00 168, 840




Rif&R-T/\vr—o

SHTEEHMBHEERAE

‘54
B TREEERE 1BH&Y (5. 8ihm)
% b R - BkTiE B = i L] B B s &

RBHE SA kR 2L

H 1.00 3, 560. 00 3,560(2.00H / 8H
£ FRP D 70PS%Y

H 1.00 83, 623. 00 83, 623 |8H
Bl = HiEm

A 1.00 47,100. 00 47,100
B S AR

A 1.00 36, 900. 00 36, 900
HIEBF

A 1.00 34, 600. 00 34, 600
REFHE

A 2.00 25, 900. 00 51, 800
BKE(FAN—) 10mk 75

A 1.00 52, 200. 00 52,200
EKTWEBIE (&1 /3—) 10mK i

A 1.00 52,200. 00 52,200
@y g

A 1.00 27,900. 00 27,900
MM F = 2NV

% 10. 00 389, 883. 00 38, 988
=) B YEZ£RES . 5. 80th = 73, 943. 00 428, 871




Rif&R-T/\vr—o

SHTEEHMBHEERAE

&5 :5
B . REFHEE 1BHY (5 8#hm)
% b R - BIkTiE ==Riv] = B £8 W E s &
RBHE SA4 b2 2
H 1.00 3, 560. 00 3,560(2.00H / 8H
£ FRP D 70PS%Y
H 1.00 83, 623. 00 83, 623 |8H
B EHREm
A 1.00 47,100. 00 47,100
B S AR
A 1.00 36, 900. 00 36, 900
BIEBF
A 1.00 34, 600. 00 34, 600
BIEWHBE
A 2.00 25, 900. 00 51, 800
BKE(FAN—) 10m3R 5785
A 1.00 52, 200. 00 52,200
EKTWEBIE (&1 /3—) 10mR i
A 1.00 52,200. 00 52,200
@y E
A 1.00 27,900. 00 27,900
HAH 2RDY%
% 10. 00 389, 883. 00 38, 988
=) B YEZ£RES . 5. 80th = 73, 943. 00 428, 871
ES:6
& mnAEERBRESRY e
% 71 R - ARTE ==Riv] = B %5 W OE s &
HARE
= 1.00 497, 000. 00 497, 000
& it YE%REH - 1.00K 497,000. 00 497, 000




Rif&R-T/\vr—o

SHTEEHMBHEERAE

E5:17
B RINGAE AN UEER
% b R - BkTiE B = B {f L] B B s &
HEf (B)
A 0. 60 47,200. 00 28, 320
HEm (C)
A 0.40 38, 400. 00 15, 360
Hifrg
A 0.40 33, 600. 00 13, 440
BEE
= 1.00 2,500. 00 2,500
EBRARE FEEDY
% 4.00 57,120. 00 2,284
=1 it YE%EREH - 1.00/2 61,904. 00 61,904
%5 :8
B RRABEREEEK IEED
4 {1 R - KT ==X = B i %8 = w &
FEHRED (B%ED
A 0.30 64, 800. 00 19, 440
HEf (B)
A 10. 30 47,200. 00 486, 160
Hitr&
A 8.70 33, 600. 00 292, 320
EBERARE FEEDY
% 1.00 797, 920. 00 7,979
=1 it E%HeH - 1.00=K 805, 899. 00 805, 899




Rif&R-T/\vr—o

SHTEEHMBHEERAE

Z5:9
B BETAR 1xKyY
% b R - BIkTiE ==Riv] = B L] B B s &
RBHE SA4 b2 2
H 1.00 3, 560. 00 3,560(2.00H / 8H
Bl S BEm
A 1.00 47,100. 00 47,100
B S B Eh A
A 1.00 36, 900. 00 36, 900
RIZBNF
A 1.00 34, 600. 00 34, 600
Al = A FRP D 70PS%Y
H 1.00 83, 623. 00 83, 623 |8H
GNSSRIfI EE DGNSS
H 1.00 25,740. 00 25,740
BEAFER 2/AM[E  90~230kHz
=] 1.00 21,120. 00 21,120
MAA EXXoY
% 1.00 252, 643. 00 2,526
=) B YEZ8eH - 1. 00K 255, 169. 00 255, 169
EF5:10
2T BERE 1B&Y (23.2km)
% f R - Bk ==K = B L] W E s &
XEE 54 kN2 20
H 1.00 3, 560. 00 3,560/2.00H / 8H
Al =i FRP D 70PS#Y
H 1.00 83, 623. 00 83, 623|8H
B EHREm
A 1.00 47,100. 00 47,100
B EHEhH
A 1.00 36, 900. 00 36, 900
RIEBNF
A 2.00 34, 600. 00 69, 200
GNSSRIfI EE DGNSS
H 1.00 25, 740. 00 25,740
BEAFER 2AM[E  90~230kHz
H 1.00 21,120. 00 21,120
MAE 2RDY%
% 2.00 287, 243. 00 5,744
=) G 1E%8EH :23.20km 12,628.00 292,987




Rif&R-T/\vr—o

SHTEEHMBHEERAE

&5 11
B REE N 108&Y
% b R - BkTiE B = i L] B B s &
A= BiEm
A 1.00 47,100. 00 47,100
B S HEHwH
A 1.00 36, 900. 00 36, 900
H=BF
A 1.00 34, 600. 00 34, 600
A H 2K0Y%
% 1.00 118, 600. 00 1,186
= B YE%6eH - 10.00H 11, 978. 00 119, 786
&5 12
2T R HREEEK 1®HY
% b R - k& B = i L] B =B s &
A= FEHE
A 2.30 54, 600. 00 125, 580
B S BET
A 8.00 47,100. 00 376, 800
BIEHEhE
A 8.00 36, 900. 00 295, 200
BEBF
A 3.40 34, 600. 00 117, 640
MMF = 2NV
% 1.00 915, 220. 00 9,152
=1 B E%HeH - 1.00=K 924, 372.00 924, 372




Rif&R-T/\vr—o

SHTEEHMBHEERAE

&S 13
B Bk - MAEEEERGA. 118) HEED
% b R - BkTiE B = B W £ L] B B s &
RBHE SA kR 2L
H 2.50 3, 560. 00 8,900/2.00H / 8H
SREM FRP D 70PS%! 3.0t
H 2.50 83, 623. 00 209, 057|8H
Bl = HiEm
A 2.50 47,100. 00 117, 750
B S AR
A 2.50 36, 900. 00 92, 250
H=BF
A 5.00 34, 600. 00 173, 000
MAA 2E0Y%
% 2.00 600, 957. 00 12,019
= B YEZ8EH - 1.00[H] 612, 976. 00 612,976
EE 14
B Bk - 1R - HEEER @A, 1R) HEED
% E R - k& BT = B W & L] B B s &
RKEE 54 kN2 20
H 3.00 3, 560. 00 10, 680/2. 00H / 8H
SREM FRP D 70PS%! 3.0t
H 3.00 83, 623. 00 250, 869 |8H
A= HiEm
A 3.00 47,100. 00 141, 300
R EhH
A 3.00 36, 900. 00 110, 700
H=BF
A 6.00 34, 600. 00 207, 600
MAA 2E0Y%
% 5.00 721,149.00 36, 057
=) B YEZ8EH - 1.00[=H 757, 206. 00 157, 206




Rif&R-T/\vr—o

SHTEEHMBHEERAE

&S : 15
B ARHER 1)
% b R - BkTiE B B = B {f L] B B s &
B EHEhE
A 15.00 36, 900. 00 553, 500
RXBEE SA kN2 2L
H 15. 00 6, 762. 00 101, 430(6. 00H / 8H
= B 1EZ8eh - 1. 00K 654, 930. 00 654, 930
&S .16
B KE - EEREEERK 1®HY
4 b R - BIkTiE ==X B = B {f %8 B = s &
F{EHRED (&5
A 2.50 64, 800. 00 162, 000
HEm (B)
A 3.80 47,200. 00 179, 360
Hifr&
A 7.30 33, 600. 00 245, 280
EXHARE FIEE DY
% 1.00 586, 640. 00 5, 866
= it 1EZ8eh - 1. 00K 592, 506. 00 592, 506




Rif&R-T/\vr—o

SHTEEHMBHEERAE

EFS 17
£ 15 EWAE BRI 1B%Y (4.3
% # ik - kTR ET g E & m = =
RBEE SA bR 2
H 1.00 3, 560. 00 3,560/2. 00H / 8H
&M FRP D 70PS%E! 3.0t
=] 1.00 83, 623. 00 83, 623 |8H
AR R
A 1.00 47,100.00 47,100
AR B
A 1.00 36, 900. 00 36, 900
BKE (FA/13—) 10mk %
A 1.00 52, 200. 00 52, 200
BKETHBA (51 /15— 1onsk %
A 1.00 52, 200. 00 52, 200
tEYE
A 1.00 217,900. 00 217,900
B DY
% 2.00 303, 483. 00 6, 069
a i EXBEN - 4.30 5 71, 988. 00 309, 552
= : 18
2% : ANEEBRRAEHHIER 185Y (4 84
% # ik - TR R ET g C & m = =
REE SA bR 2
H 1.00 3, 560. 00 3,560/2. 00H / 8H
&M #8D 150PSE! 15. 0t
H 1.00 141, 031. 00 141, 031/8H
AR R
A 1.00 47,100. 00 47,100
AR R
A 1.00 36, 900. 00 36, 900
AEHT
A 2.00 34, 600. 00 69, 200
AR DY
% 2.00 297,791.00 5, 955
=) i EXBEN - 4. 8045 63, 280. 00 303, 746




Rif&R-T/\vr—o

SHTEEHMBHEERAE

&5 19
&M AT M AZERRRAE =D
% b R - BkTiE B B = B {f L] B B s &
RBHE SA4 b2 2
H 3.00 3, 560. 00 10,680|2. 00H / 8H
SREM FRP D 70PS%E! 3.0t
H 3.00 83, 623. 00 250, 869 |8H
B2 E T HEm
A 3.00 54, 600. 00 163, 800
B S HET
A 3.00 47,100. 00 141, 300
B EHEhE
A 3.00 36, 900. 00 110, 700
RIZBNF
A 3.00 34, 600. 00 103, 800
MM 2E0%
% 5.00 781, 149. 00 39, 057
=1 B E%HeH - 1.00=K 820, 206. 00 820, 206
ES:2
B RF A HEBRRRAE IE=D
4 b1 R - KT =X B = B i %8 = & &
REE SA4 kYL
H 1.00 3, 560. 00 3,560/2.00H / 8H
B2 EFHEm
A 1.00 54, 600. 00 54, 600
RIEHEm
A 1.00 47,100. 00 47,100
B EHEhE
A 2.00 36, 900. 00 73, 800
RIZBNF
A 2.00 34, 600. 00 69, 200
Bt
A 3.00 56, 300. 00 168, 900
BiEt
A 3.00 43, 200. 00 129, 600
iR E HAMER < 2ERDY
% 80. 00 546, 760. 00 437, 408
MAE 2R 0Y%
% 20. 00 984, 168. 00 196, 833
=) G YEZk8EH - 1.00=X 1,181,001. 00 1,181, 001

10




Rifi% SBT3 7= SHTEEHPIE L ERRE

&5 : 21
& AERROEN - 2R (BEEYHREE) 1)
% b R - BkTiE B B = B W £ L] B B s &
F{EHRED (GRED
A 1.00 64, 800. 00 64, 800
HEm (A)
A 3.00 57, 000. 00 171, 000
A (B)
A 6. 00 47,200. 00 283, 200
e (C)
A 10. 00 38, 400. 00 384, 000
Hifrg
A 12.00 33, 600. 00 403, 200
EKARE 2E0Y%
% 1.00 1, 306, 200. 00 13,062
= it YEZ8eH - 1. 00K 1,319, 262. 00 1,319, 262
&5 .22
BF: FRKE-EE - &9 HEED
% E R - k& BT B = B W & L] B B s &
RBEHE 54 kY 2L
H 3.00 3, 560. 00 10, 680/2. 00H / 8H
B S BET
A 3.00 47,100. 00 141, 300
BIEHEhE
A 3.00 36, 900. 00 110, 700
HEBF
A 6.00 34, 600. 00 207, 600
MM 2ED%
% 3.00 470, 280. 00 14,108
& B YEZEHREAD : 1.00[= 484, 388. 00 484, 388
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Rif&R-T/\vr—o

SHTEEHMBHEERAE

E&E .23
B W T VA ZHEEBR S TRE HEED
% b R - BkTiE B = B {f L] B B s &
RBHE SA4 b2 2
H 2.00 3, 560. 00 7,120/2.00H / 8H
Bl S BEm
A 2.00 47,100. 00 94, 200
BIEHEhE
A 2.00 36, 900. 00 73, 800
RIZBNF
A 2.00 34, 600. 00 69, 200
MM 2ERDY%
% 2.00 244, 320. 00 4, 886
=1 B YEZEHREAD : 1.00[= 249, 206. 00 249, 206
BEES:24
B hDJ A ZEINERERE 1EHY
4 {1 R - KT ==X = B i %8 = w &
REE SA4 kYL
H 3.00 3, 560. 00 10, 680/2. 00H / 8H
Bl = HiEm
A 3.00 47,100. 00 141, 300
B S BEHwH
A 3.00 36, 900. 00 110, 700
BIEBNF
A 3.00 34, 600. 00 103, 800
A 2E0Y%
% 5.00 366, 480. 00 18, 324
= it YEZ8EH - 1.00[H] 384, 804. 00 384, 804
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Rif&R-T/\vr—o

SHTEEHMBHEERAE

EE : 25
B £FEHE HhEIEHRLAJL1000 100km2%1Y
% b R - BkTiE B B = i L] i s &
A= FEHEEN
A 0.50 54, 600. 00 217,300
Bl S BEm
A 1.00 47,100. 00 47,100
BIEHEhE
A 0.50 36, 900. 00 18, 450
HREE EEAGEDY
% 1.00 92, 850. 00 928
EEEEE BEEAME -+ EEhEEDY
% 3.00 93, 778. 00 2,813
=1 it {YE%EHREH - 100.00km 2 965. 00 96, 591
&= : 26
L% FHRETE HEIEHL ~JL1000 100km2%Y
4 {1 R - KT ==X B = il ) i w &
B S BET
A 0.30 47,100. 00 14,130
BIEHEhE
A 0.30 36, 900. 00 11,070
Bt
A 0.30 56, 300. 00 16, 890
BiEt
A 0.30 43, 200. 00 12, 960
&
A 0.30 43, 500. 00 13, 050
W E EEAGED
% 9.50 68, 100. 00 6, 469
MHE EEAGEDY
% 5.00 68, 100. 00 3, 405
REESEE EEAGE+HEBRBZREDY
% 3.00 74, 569. 00 2,231
& it {E%HBEH - 100.00km 2 802. 00 80, 211
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Rifi% SBT3 7= SHTEEHPIE L ERRE

8227
B BEM HhRIFIR L N JL1000 s ED)
% b R - BIkTiE ==Riv] M = B M & %8 W E s &
finZes B
gt 1.00 129, 760. 00 129, 760
mEHV) Y
L 60. 00 364. 00 21, 840
MELFAIL
L 2.50 1, 850. 00 4,625
BECESE EEAMZE - HEEZEEDY
% 3.00 129, 760. 00 3,892
& it YEZEEH - 1. 00BFRS 160, 117. 00 160, 117
&5 :28
& EHAl shEIEER L NJL1000 lEHEED)
% fd R - AR B o = B & %8 W E s &
MZEL—YRAEEYRT LA R g
gt 1.00 247, 370. 00 247,370
BEFEESLSRINEXT—4 EEFHRESAA
iEin! 1.00 2, 400. 00 2, 400
BEESEE HEmRE DY
% 3.00 247, 370. 00 7, 421
& &t YEZRES - 1. 00B%RS 257,191.00 257,191
EH5:29
B wE HERIEHRL AIL1000 IEED)
% 71 R - BARTiE Bf % =2 B i & # B B i =
Bt
A 1.00 56, 300. 00 56, 300
BiEt
A 1.00 43, 200. 00 43, 200
mE
A 1.00 43, 500. 00 43, 500
BIEERES EEAGEDY
% 1.50 143, 000. 00 2,145
BECESE EEAGEDY
% 3.00 143, 000. 00 4,290
& &t fEZEEH - 1.008 149, 435. 00 149, 435
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Rif&R-T/\vr—o

SHTEEHMBHEERAE

&5 : 30
B ABADHRE HRIFEHRLAIL1000 10&fr Y
% b R - BkTiE B B = B {f L] B B s &
B EHEhE
A 5.00 36, 900. 00 184, 500
BZEBF
A 7.50 34, 600. 00 259, 500
Bz E EEAGED
% 29.50 444, 000. 00 130, 980
MHE EEAGEDY
% 1.00 444, 000. 00 4,440
EEEEE BEEAGEBIBEEDY
% 3.00 574, 980. 00 17, 249
=1 it YEZEHREH - 10. 00FFRr 59, 666. 00 596, 669
&= 31
2 ABT—ARUFYSHILT—2ER HEEHRL /L1000 100km2%Y
4 {1 R - KT ==X B = B ) = w &
B S BET
A 15.00 47,100. 00 706, 500
BIEHEhE
A 30. 00 36, 900. 00 1,107, 000
HREE EEAGEDY
% 11.00 1,813, 500. 00 199, 485
BEEEE BEEAGEHBIBEEDY
% 3.00 2,012, 985.00 60, 389
=1 it YE%HREH 10000k m 2 20, 733. 00 2,073,374
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Rif&R-T/\vr—o

SHTEEHMBHEERAE

&B&E 32
W IO FT—42/Kk #HERIFERL L1000 100km2%Y
% b R - BkTiE B = B {f L] i s &
A= BiEm
A 20.00 47,100. 00 942, 000
B S HEHwH
A 60. 00 36, 900. 00 2,214,000
H=BF
A 40. 00 34, 600. 00 1, 384, 000
HREE EEAGEDY
% 11.50 4, 540, 000. 00 522,100
MHE EEAHGED
% 0.50 4, 540, 000. 00 22,700
BEEEE EEAEEBIBREDY
% 3.00 5,062, 100. 00 151, 863
= it E%¥8EH :100.00km 2 52, 366. 00 5, 236, 663
&S : 33
W JUy FEER) T—2ERK  #HEEERL ~JL1000 100km2%Y
% E R - k& BT = B {f L] i s &
Bl = HiEm
A 2.00 47,100. 00 94, 200
B S BEHwH
A 10. 00 36, 900. 00 369, 000
Bz E HHEEDY
% 11.50 463, 200. 00 53, 268
REEESE EEAGEBIBREDY
% 3.00 516, 468. 00 15, 494
=1 Hi YEZ¥BEH 100.00km 2 5,319.00 531, 962
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Rif&R-T/\vr—o

BT EEHFI R A

ERAE

&5 :34
B ERRT—21ER HEIEHRL ~IJL1000 100km2%Y
% b R - BIkTiE ==Riv] = i £8 i s &
B EHREm
A 3.00 47,100. 00 141, 300
B S HEHwH
A 9. 00 36, 900. 00 332,100
iR E BEEAGEDY
% 11.00 473, 400. 00 52,074
BECESE BEEAGEEERZEEDY
% 3.00 525, 474. 00 15, 764
= it E%8EH :100.00km 2 5,412.00 541, 238
&5 :35
W BBT—2 774K HEIEHRL /L1000 100km2%Y
% fd R - AR B = i £8 i3] s &
B8 FEHER
A 0.50 54, 600. 00 27, 300
B S BET
A 1.50 47,100. 00 70, 650
B S B Eh
A 2.50 36, 900. 00 92, 250
HREE EEAGEDY
% 10. 50 190, 200. 00 19, 971
HHE BEEAGEDY
% 2.00 190, 200. 00 3, 804
RESES EEAGEBIBREDY
% 3.00 210,171.00 6, 305
= it E%¥8EH :100.00km 2 2,202.00 220, 280
&5 :36
B EBERERIERE 1xKy Y
% b R - BIkTiEk ==Riv] = i £8 i s &
EFRERERE
=% 1.00 52, 000. 00 52, 000
& &t E%8EH - 1. 00 52, 000. 00 52, 000
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Rif&R-T/\vr—o

SHTEEHMBHEERAE

&5 .37
B IREXEE 1)
% b R - BkTiE B B = B {f L] B B s &
REXEE
= 1.00 1,140. 00 1,140
=) B E%5eH - 1.00=X 1,140. 00 1,140
E5:38
& BERE HEED)
% {1 A - BT B B = B ) = w &
REE 5S4 kN2 2L
H 2.00 3, 560. 00 7,120/2.00H / 8H
K@M FRP D 70PSZ! 3.0t
H 1.00 81, 288. 00 81, 288 |8H
BIEHEm
A 2.00 47,100. 00 94, 200
B EHEhE
A 2.00 36, 900. 00 73, 800
BEBF
A 1.00 34, 600. 00 34, 600
MMF = 2NV
% 2.00 291, 008. 00 5, 820
=) B YE%8EeA : 1.00[H 296, 828. 00 296, 828
E#5:39
& AEHROEN - ER (THREWRAE) 1K%Y
% {1 R - BT I=-Xv) H = B ) W = B &
F{EHEm G&ED
A 4.00 64, 800. 00 259, 200
A (A)
A 8.00 57, 000. 00 456, 000
HEm (B)
A 12.00 47,200. 00 566, 400
HEf (C)
A 16. 00 38, 400. 00 614, 400
EXHARE 2K0Y%
% 1.00 1, 896, 000. 00 18, 960
= it EZ¥8eH - 1. 00K 1,914, 960. 00 ,914, 960
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Rif&R-T/\vr—o

SHTEEHMBHEERAE

EE 40
BF: DIOEELERMYE LD 1)
% b R - BkTiE B B W £ L] B B s &
F{EHRED (GRED
A .00 64, 800. 00 129, 600
HEm (A)
A .00 57, 000. 00 114, 000
A (B)
A .00 47,200. 00 188, 800
e (C)
A .00 38, 400. 00 307, 200
Hifrg
A .00 33, 600. 00 268, 800
EKARE 2E0Y%
% .00 1,008, 400. 00 10, 084
= it YEZ8eH - 1. 00K 1,018, 484. 00 1,018, 484
&5 4
BF : NHEARERDOIERK 11
% E R - k& BT = B W & L] B B s &
HEf (C)
A .50 38, 400. 00 19, 200
=) it E%8eH - 1.00=X 19, 200. 00 19, 200
BS54
B ERIE HEED)
% {1 R - BT I=-Xv) H = B &+ ) W = B &
A2 EFHEM
A .00 54, 600. 00 54, 600
B EHEm
A .50 47,100. 00 23, 550
=) it YEZ£8EH : 1.00[H 78, 150. 00 78, 150
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Rifi% SBT3 7= SHTEEHPIE L ERRE

EE .43
A hERE HEED
% b R - BkTiE B B = B W £ L] B B s &
A= FEHEEN
A 0.50 54, 600. 00 217,300
Bl S BEm
A 0.50 47,100. 00 23, 550
= it YEZ8EH - 1.00[=H 50, 850. 00 50, 850
EE M
B =RERE HEED
4 b R - BIkTiE ==X B = B W & %8 B = s &
A= FEHE
A 0.50 54, 600. 00 27,300
BIEHEm
A 0.50 47,100. 00 23, 550
= it YEZ8EH - 1.00[H 50, 850. 00 50, 850
&ES 45
&% REERR 1K%Y
4 b1 B - k& =X B = B o %5 = 5 &
TEEHMR FRP D 180PS#Y
H 3.60 157, 802. 00 568, 087/6. 00H / 8H
MM 2E0%
% 0.50 568, 087. 00 2,840
=1 B YE%HeH - 1.00=K 570, 927. 00 570, 927
&S - 46
& EBERERESRE (SMNTEE HMRMEERARE) IED)
4 b A - BKTiE =X o = B o %8 = 5 &
XHEBRME
= 1.00 100, 000. 00 100, 000
=) it EZ8eH - 1. 00X 100, 000. 00 100, 000
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Rifi% SBT3 7= SHTEEHPIE L ERRE

&B&E 47
2 EBFRERE (SMCEENMFERERY F&6H) 1)
% b R - BkTiE B B = B W £ L] B B s &
EXBEBRRGE
= 1.00 100, 000. 00 100, 000
=) it E%5eH - 1.00=X 100, 000. 00 100, 000
BES 48
B DR E 1K%Y
% {1 A - BT I=-Xiv) B = B & ) = w &
KEAHHRE
= 1.00 16, 760, 468. 00 16, 760, 468
EBESHARE
=® 1.00 631, 800. 00 631, 800
FMTS U0 FUNIRE
= 1.00 720, 000. 00 720, 000
WIS FooE
= 1.00 1, 296, 000. 00 1,296, 000
Al - MIERASTE
= 1.00 838, 800. 00 838, 800
ELXEMIHE
= 1.00 7217, 200. 00 7217, 200
TEEYMTE
= 1.00 1,939, 200. 00 1,939, 200
BNEENNE
= 1.00 300, 000. 00 300, 000
FREMIITE
= 1.00 1, 680, 800. 00 1, 680, 800
FREESTRERE
= 1.00 3, 142, 040. 00 3, 142, 040
& it E%HeH - 1.00=K 28,036, 308. 00 28,036, 308
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